FR2IFEE F2EPFICTLIHRE

WBHOFEVH IS ER21ETAS5HE (B)
E| #H i K% mE ELER i K% mE ELER i K% mE R i K4 mE &%
B [—#&| 58 100m 1 BAR IBEL EHBXRX 10.81(+0.9) K% | 2 BN BT HBXEX 10.85(+0.9)K£%r | 3 BA A HBXRX 10.99(+0.9) 4 & %X | KBAC 11.14(+0.9)
F | & 5 BA PKX  #HBRIHEK 11.15(+0.0) 6 KR KN HBEIRKX 11.21(+0.9) 7 WA h  HMBRXEAK 11.50(+0.0) 8 FHk FE EEREYX 11.64(+0.0)
200m 1 BAR AL EHBXRX 21.77(+1.6) 2 BN BT HBXRX 22.14(+0.5) 3 FR KN HEIRKX 22.21(+1.6) 4 B2 MK &8 23.17(+1.6)
5 KE BE  HBEIRX 23.40(+0.5) 6 il @i EE 23.50(+1.6) 7 Witts & HE 23.62(+1.6) 8 WA H  HMBRXEAK 23.78(+0.5)
400m 1 BA PA #BBXEK 50.67 2 e ITI 3 e =5 52.27 3 ELES = 52.36 4 HE X WMBXRX 53.09
5 Kt FE E 59.78 6 EA fith SLCIKHXE 1.31.60 7 8
800m 1 FH Bh  HBEXEKX 2.00.05 2 NE RE BRE 2.09.17 3 BHE—H ELE@AER 2.28.78 4
5 6 7 8
1500m 1 MR BH &S 4.18.16 2 o % #5 4.23.74 3 E% % HEXRK 4.34.49 4 A #E FEREEX 4.37.23
5 =k FREFER 4.39.07 6 ME BA  HEE 4.43.92 7 2R B H#E 4.46.75 8 0 =46 #5 4.50.09
110mH 1 A LR LBEER 15.88 2 3 4
B:.+11 |5 6 7 8
400mH 1 NE RE BRE 1.05.01 2 3 4
5 6 7 8
1 WAR-FA  HAXEK 4228 KEHT 2 =H-Lth  EEB 44.59 3 Fh-2F #HRHEFEX 45.45 4 BE-RA HERBA 46.21
4X100mR BR-FA M- kB - mE Kk 2H
5 #}A-KH  ESA 48.54 6 WH-FR #MBEB 48.93 7 IMR-BR EBC 50.21 s
Je 4 - 2 SR - th R (IR i |
EEB |1 EH S8 HBXRX 1m90 2 RiE FE HEE 1m80 3 ERX BR |HEX 1m75 4 IO R #MBXEK 1m70
5 6 7 8
EMEBE | 1 WE X8 #E 5m78(+1.0) 2 L & H#E 5m29(+1.1) 3 4
5 6 7 8
BTN Tk MH  PEX 14m29(+0.6) K &% | 2 WAEARS  FEREFX 13m02(+0.1) 3 Wity & H#E 12m89(+0.6) 4 AE RE #8 12m38(+0.8)
5 RE FE #HES 12m01(+0.1) 6 7 8
ank |1 AIE B A& 11m83 2 BB £% | #BS 10m23 3 A BX ES 10m16 4 B2 % HEE 8m80
5.4kg 5 Ak BE  HRE 8m78 6 B A SLIEXE 6m34 7 8
A% |1 BiE & HETHE 12m61 2 Pt ® HEEHE 12m54 3 =15 BE LXK 11m17 4 = LA FREER 10m34
7.2kg 5 MNE KAl RF—LILE 9m59 6 WWAEARS  FEREFX Tm34 7 8
AL |1 Xt BN E 33m02 2 BB £% | #Bs 29m67 3 B2 % HEE 23m52 4 A BX | ES 22m67
1.5kg 5 EBRIIEX #HEAS 16m82 6 WA HEE 16m67 7 8
A |1 B & HHETHE 3TmBAKREE | 2 MNE KBl RF—LILE 28m41 3 4
2.0kg 5 6 7 8
Y 1 [ e PN 54m58 2 A —BH #HES 51m16 3 Xt BN EE 47m41 4 Atk BE #ERS 34m27
5 EBRIEX #EAS 31m75 6 WA HEE 24m09 7 R BX #2Rs 23m85 8
| 58 100m 1 REE EF | KAAC 11.84 2 #Xx Bt | KAAC 12.14 3 BE XAAC 12.19 4 IMMERER  (KAAC 12.36
m:.+15 |5 BEA T#H  KAAC 1267 6 A 52 KAAC 12.70 7 =i s KAAC 13.13 8 28 ®E  KAAC 1357
200m 1 2 3 4
A 5 6 7 8
400m 1 2 3 4
5 6 7 8
1500m 1 R R KAAC 4.58.02 2 BHF FF | KAAC 5.11.74 3 4
5 6 7 8
11omH | 1 IMEKRER  KAAC 18.05 2 =i % KAAC 19.28 3 4
m:.+15 |5 6 7 8
1 HA-R#E | KAAC B 47.11 9 ZE-A/  KAAC A 51.38 3 4
4X100mR A L8 HE
5 6 7 8
EEB |1 Bl X | #HBAC 1m45 2 3 4
5 6 7 8
EMEBE | 1 wA 52 KAAC 5m87(+0.2) 2 BA TR KAAC 5m71(+0.2) 3 BB FKX |#BAC 4m93(+1.4) 4 ED #th  KAAC 4m32(+1.1)
5 miE B HEH 4m23(+0.7) 6 Mk Ef  KAAC 3m78(+0.6) 7 BIE 18 SHEH 3m60(+0.3) 8 A ME  EET 3m41(+1.2)
A%k |1 EE E HEH 8m68 2 a8 ME HES Tm28 3 4
5 6 7 8
NE| 58 100m 1 @ #%* | KAAC 14.08(+1.7) 2 KEAAR | KAAC 14.49(+1.7) 3 MR ¥ XAAC 14.66(+1.7) 4 a5 BAK  KAAC 14.81(+1.8)
A 5 Bk % KAAC 15.47(+1.8) 6 g K& XKAAC 15.49(+1.8) 7 BHE i KAAC 15.81(+1.7) 8 RIE Eth  #BAC 16.81(+1.7)
1000m 1 B BF  KAAC 3.34.16 2 3 4
5 6 7 8
80mH 1 2 3 4
5 6 7 8
1 BE-LH [KBAC A 58.36 9 BiHR-/ME  KAAC B 61.82 3 4
4X100mR ELREN iy 3 2]
5 6 7 8
EEpk |1 2 3 4
5 6 7 8
EERE | 1 +@ #%E KAAC 4m13(+1.8) 2 MR E XAAC 3m71(+1.2) 3 & BK  KAAC 3m70(+1.2) 4 Bk =% KAAC 2m93(+2.0)
5 RIg 2=t HBAC 2m82(+1.1) 6 F# BEX XAAC 2m74(+0.7) 7 8
A= |1 A8 EE | KBAC 33m68 2 3 4
5 6 7 8




FR21EE F2EFUNERE

WBHOESCHEIS FR2147A58 (B)
5] [E =] fi K& g inhR fi K& B o8 fi K& B o8 o4 B &
% |—h%| 58 100m 1 EI ER OBMBXRK 12.45(+1.6) | 2 @ SEMER HMBXEKX 1344(+12) | 3  EHBEFD HS 13.76(+1.6) | 4 13.88(+1.6)
F (B 5 =R ¥ H#E 1394(+16) 6 ¥#h HEY #HS 1405(+1.2) | 7  HiD 3EfE FREREFEX 1411(+1.2) | 8 14.43(+1.2)
200m 1 BRE #  #WMBXHK 2546(+10) 2 | K # WMBXHK 2557(+1.9) | 3 | #K FE #MEBXHKX 26.13(+1.9) | 4 27.22(+1.0)
5 =R ¥ BB 2864(+19) 6 ®W t HS 2878+10) 7 &W t HS 28.78(+10) 8 29.37(+1.9)
400m 1 WO XE BMBXHK 1.00.42 2 3 4
5 6 7 8
800m 1] RS  #MES 2.31.77 2 | LG XM EEE 2.35.18 3 4
5 6 7 8
1500m | 1 L] 5.06.21 2| BX E #HMBXHEX 5.21.33 3 4
5 6 7 8
100mH | 1| FH W3 #HMEXHK 14.48 2 | I IEF BMBXHEX 14.91 3 EK R #WBES 17.40 4| B8 B #ES 18.13
B+10 |5 FEK Yh #HE 19.54 6 /MY BETE HE 20.29 7 8
400mH | 1| &% FF #5 1.12.62 2 | MY BETE BEE 1.27.23 3 4
5 6 7 8
(| BA-RE BEXEX 48.05 ,  RR-SR HESB 54.03 3 | HBIJIE HEREFER 56.89 4 BRE-AK #@EE 57.11
4X100mR FMH-= BE-HR HE- =48 BS-fEER
5 EE-EHE #&D 58.41 6 ; o
K- Hi N
EEE |1 FHK E RS 1m55 2 | BE BMx &5 1m50 3 SRKREHE #5 1m40 4 | EEOEE [BZ5 1m40
5 R A& HE 1m25 6 7 8
EMEEE |1 Bl B EMEBEXEX 5m38(+1.4) | 2 | Bl #K WMBXEK 5m27(+1.5) 2 | Ik IEF HMEBXEX 5m23(+0.5) | 4  EHBRAL (B 4m96(+1.2)
5 IR At HS 3m99(+1.2) | 6 6 8
ZEBE |1 &l #R BMEXEX 1m36+16)ARH 2 | H#HIL B #MBEXEK 11m07(+0.2) | 2 | /#k 1&F #MEBXEKX 11m01(+1.4) | 2 BHE & |[&#= 8m93(+0.2)
5 R A& |#EE 8m71(+04) | 6 6 6
mAK (1 MM FBEEF HBMEXEKX 8m13 2 | EE BF S 7m75 3 4
4.0kg 5 6 7 8
A [ 1 BN e BEs 30m91 2 | B ARRE EWMEBXRKX 28m58 3 i AR BS 12m61 4
1.0kg 5 6 7 8
PYUER (1 EE LRKE 3BmO6ARF | 2 EHN FHE MBS 35m6SARF 3 | /E HE HMEBEXHK 28m18 4| BE BF HE 25m75
5 Ik BEEF BMEXEX 21m10 6 AR & H#5 17m17 7 8
iz 58 100m 1 ML HEE KBAC 1362(+18) | 2 | iR A#EE KAAC 13.86(+20) | 3  JIRNKREF FHHETP 1405(+20) | 4  #@=E 8% KXHAAC 14.37(+1.8)
5 /i M HAR 1441(+20) 6  3rA BHE KHAC 1470(+18) 7 | BJII EX FHHYP 1497(+20) 8  #MECDH KHAC 15.79(+1.8)
200m 1 ML HEE KBAC 28.55(+1.0) | 2 3 4
5 6 7 8
400m | 1 2 3 4
5 6 7 8
800m 1| &% £B% HHE 24267 2 3 4
5 6 7 8
1500m | 1 2 3 4
5 6 7 8
100mH [ 1 kA BHE KAAC 17.66 2 | @WE R%E KAAC 18.26 3 | EDHLY EFHF 18.83 4 =L FE  HAG 22.25
B:+17 |5 6 7 8
1 [ERR-NML KAAC 55.14 o | BRI [EETA 55.93 3 MH-EEH HEEB 58.46 4
4X100mR UE ISR ED- S
5 6 7 8
EEB |1 MHEMF FHAG ImSO(CKR44) | 2 | EDHLY EFEHEF 1m30 3 4
5 6 7 8
EiEEk |1 | E4K&EE KAAC 4m38(+2.1) | 2 | HE@AATIE HHP 3m64(+0.1) | 3 | #MMBZDH KHAAC 3m45(+04) | 4
5 6 7 8
aAE [ 1 ki F EES 8m50 2 | i EB KAAC 7m63 3 | Mk E EHEF 6m85 4
2.7kg 5 6 7 8
N2 58 100m 1 EH BXK KAAC 16.04 2 | HMBERTF KAAC 16.23 3 /MR HWE KAAC 16.46 4 | /A FM KAAC 16.53
B:+18 |5 6 7 7
800m 1| /A Fm KAAC 3.04.97 2 | EH BXK KAAC 3.05.26 3 4
5 6 7 8
80mH | 1 2 3 4
5 6 7 8
1 PA.%-iJ_ﬂ% KABAUN) 65.00 9 3 4
4X100mR eSS
5 6 7 8
EMERE | 1 MIBERF KAAC 3m42(+03) | 2 | 3RA FM KAAC 3m34(+22) | 3 | /IME BE KAAC 3m17(+12) 4 | BIFE IR KAAC 3m07(+1.4)
5 6 7 8




FR21EE F2EPESCLRE

HBHOFVHEIS Erk2147858 (H)
=] (L] fiz K4 mE EREES fiz K4 mE EREES fiz K4 E EREES fiz K4 E EREES
% |—f&| 58 100m IS HBXFEKX 1245(+1.6) | 2 BAMER HMEBEXHKX 1344(+12) | 3  EHRBFD HS 13.76(+16) | 4 & £t HS 13.88(+1.6)
F | B 5 ZFR ¥m #5 13.94(+16) 6 ¥i#h HE #HS 1405(+12) | 7 HB fH|IE FREFX 1411(+12) 8 FK Yk #ES 14.43(+1.2)
200m 1 HRE #  HMBXHK 25.46(+1.0) | 2 EER 5  WMBEXRK 2557(+19) 3 #K FE #MBEXEK 2613(+19) | 4 SRREE HB 27.22(+1.0)
5 ZER ¥m #5 2864(+1.9) 6 2 £t #HE 28.78(+1.0) 7 & £t #HE 2878(+1.0) 8 EHZEFN HE 29.37(+1.9)
400m 1] WO RE HMBEXRKX 1.00.42 2 3 4
5 6 7 8
800m 1 ERES  #HBE 2.31.77 PR 3 ) 2.35.18 3 4
5 6 7 8
1500m 1 Bf & #B 5.06.21 2 BE B #WMBEXHKX 5.21.33 3 4
5 6 7 8
100mH [ 1| FH B3 #MEBEXEKX 14.48 2 | VK 1EF EBXREX 14.91 3| BK ER #HES 17.40 4 AL B #HES 18.13
B+10 |5 AKX Y HE 19.54 6 /i BBTE EE 20.29 7 8
40mH | 1| 18E BF HS 1.12.62 2 | MR BBTE EE 1.27.23 3 4
5 6 7 8
1 BR-RE  EEXHEK 48.05 ,  ER-SR #EB 54.03 3 | BT-JIE WREHFEX 56.89 4 BREEK #@Es 57.11
4X100mR FH-=Z5 BE-8M/ A= 515 85
5 | EECER #ED 58.41 6 7 e
b P i)
EEpk |1 b - RE %31 ) 1m55 2 &A ME HS 1m50 3 SRREE HES 1m40 4| BROEE [HE5 1m40
5 R A #5 1m25 6 7 8
EEEE [ 1] Bl B #SMBXEX 5m38(+1.4) | 2 | #IL #HK #HMBEXHK 5m27(+15) 2 | /I 1EF EHBEXEKX 5m23(+0.5) | 4 EAE@EFID |[Ee 4m96(+1.2)
5 R A #5 3m99(+12) 6 6 8
SBR[ 1 Bl R #HEXEX Hm3sHe)ARE 2 L B MBXEKX 11m07(+0.2) | 2 | /hik &F HEBXHK 11m01(+1.4) | 2 EEEE 8m93(+0.2)
5 R Ak |#5 8m71(+04) 6 6 6
Ak (1 A BE BMBEXEX 8m13 2| BB BF He 7m75 3 4
40kg | 5 6 7 8
A% |1 SN F8 #BEs 30m91 2 | Ve BE EBXEX 28m58 3| Wt AR ES 12m61 4
1.0kg. 5 6 7 8
Py [ 1] mEE IWEXE BmO6KLH | 2 | HH FE MBS 3BmESKEH | 3 | /IE HE EHMEXRKX 28m18 4| B2 BT Hs 25m75
5 /I FEE HBBXHKX 21m10 6 HE 2 2 H5 17m17 7 8
mEl 58 100m 1 MU #EE KAAC 1362(+18) | 2  {kRA#HEE KAAC 13.86(+20) | 3 | JIMREF HHEHF 1405(+20) | 4  ®WE RE KHAAC 14.37(+1.8)
5 /b EM EHHES 1441(+20) 6 IxA BHE KHAC 1470(+18) | 7 BJII BEX HHEHT 1497(+20) 8  WMMECOD#H KAAC 15.79(+1.8)
200m 1] ML iEE (KAAC 2855(+1.0) | 2 3 4
5 6 7 8
400m 1 2 3 4
5 6 7 8
800m 1 =% XK HHYP 2.42.67 2 3 4
5 6 7 8
1500m | 1 2 3 4
5 6 7 8
100mH 1| kA BIE KHAAC 17.66 2 | WE RE KAAC 18.26 3| EDHWLY FHHEP 18.83 4 =L E EHHYP 2225
B:+17 [ 5 6 7 8
1 HERKR-MU KAAC 55.14 o | EIL-ME EHEBA 55.93 3 | /-BE HEHB 58.46 4
4X100mR BRAR-EHE JIF-2 Pl AT
5 6 7 8
EFEB [ 1| MEEMF FHAG Im50(KR44) | 2 | ElHLY HHES 1m30 3 4
5 6 7 8
EEEE |1 EAKEE KAAC 4m38(+2.1) | 2 | HEEAFIFE FHS 3m64(+0.1) | 3  HMBZOH KAAC 3m45(+04) | 4
5 6 7 8
ik [ 1] MEHEmF FEG 8m50 2 | i EH KAAC 7m63 3 | kR EM FHHES 6m85 4
2.7kg 5 6 7 8
N[ 58 100m 1| EH BK KXHAAC 16.04 2 | HMBERF KAAC 16.23 3 | /MR BE KAAC 16.46 4 A Fm KAAC 16.53
B:+18 [5 6 7 7
800m 1 /A Fm KAAC 3.04.97 2 | EH BXK XAAC 3.05.26 3 4
5 6 7 8
80mH 1 2 3 4
5 6 7 8
1 MBEMRKAACN 65.00 9 3 4
4X100mR VN i
5 6 7 8
EERE [ 1 MUBERKF KAAC 3m42(+03) | 2 | IRA FM KHAAC 3m34(+2.2) | 3 /MR BE KAAC 3m17(+1.2) | 4 BiE IR KAAC 3m07 (+1.4)
5 6 7 8




